Mwew COIRs5

MOD. | LENGHT
MT

3-4.5

; CLASS |
TMA 301
TMASDT| 3-4-5 L

TMAS01| 3-4-5

ITEM

SF 301 - 401 - 501

400A -

400A -

I’ENSION' POWER AT 60%
CO2 - MiX
280A -

| COOUNG

220 A
360A | AR

360 A

Part No

|13.00301.3
13.00.301.4
13.00301.5

'13 00.401.3
13.00.401.4
113.004015

13.00501.3
13.00.501.4

13.005015

[13.02.23
|

[13.03
13.03.24
13.02.24

[13.01.M6.08
113.01.M6.10
113.01.M6.12
: 13.01.M6.16

13.01.M8.08
13 01.M8.10
| 13.01.M8.12
113.01.M8.16

13.06.301
13.06.401
13.06.501
13.07.301
13.07.401

| Copertura isolante lancia

MIG TORCHES SUITABLE FOR SF 301 SF 401 SF 501

[+2]

10

AAAAAAAAAAAAAAARA

VAWV

| Torcia completa TMA 301 ml 13
Torcia compleia TMA 301 mt.4
| Torcia completa TMA 301 mt.5

Torcia complala TMA 401 mt.3
| Torcia completa TMA 401 mt.4

Torl:ia completa TMA 401 mL5

1Torcia :mr_nple_!a TMA 501 mt.3
Torcia completa TMA 501 mL.4

MIG

Wire conduit for Aluminium

DESCRIPTION

- Gomplete torch TMA 301
- Cpmplete mfc_h_TMA 301
- Complete torch TMA 301
- Complete torch TMA 401

- Complete torch TMA 401

- Complete torch TMA 401

- Complete torch TMA 501
- Complete torch TMA 501

mL3 SPRING PINS |

mt.4 SPRING PINS

L5 SPRING PINS |

mt.3 SPRING PINS

mt4 SPRING PINS |

mt5 SPRING PINS

mt.3 SPRING PINS |

mt.4 SPRING PINS

" i~
A " n e
WWE

| ORIGINAL REF.| PACK

[ Torcia completa TMA 501 mt.5

| Ugello gas cromato @16 STD

| Boccola isolante forte intensita
| Isolante ugello gas forte intensita
Ugello Gas per boccola isolante forte intensita

Punta guidafilo M6 x 40 @ 0,8 mm.
| | Punta uuldaﬂ!o M6x40 @ 1,0 mm.
Punta guidafilo M6 x 40 @ 1,2 mm.,

| Punta guidafilo M6 x40 81,6 mm.

'i"i"unla gui'ﬂ-allla'iﬂ's X 44 B 0,8 mm.
 Punta guidafilo M8 x 4 46_ 81,0 mm.

Punla guidafilo M8 x 44 B1,2 mm.

| Punta guidafilo M8 x 44 @1,6 mm.

: Lancia con diffusore M6

| Lancia con diffusore M8
Lancia con diffusore M8

| Copertura isolante lancia

- Complete torch TMA 501

- Nickel plated gas nozzle @16 STD

- Bushing
- Insulator nozzle

= Gas nozzle

- Contact tip MG x40 00, 3 mm.
- Con_tact tip M6 x40 01,0 mm.
- Contacttip M6x 40 01,2 mm.

- Contactip M6 x40 1,6 mm.

- Contact lip' M8x44 0 0,8 mm.
- ContacttipM8x 44 81,0 mm.

Contact tip MB X 44 01 2 mm,
- Contact tipM8x44 01,6 mm.

- Swan neck TMA 301 w/diffuser M6
- Swan neck TMA 401 w/diffuser M8
- Swan neck TMA 501 w/diffuser M8
- Swan neck insulator cover TMA 301
- Swan neck insulator cover TMA 401

mt5 SPRINGPINS |

NEW COIR S.p.A. ils in no way affiliated with SAF" . The parts advertised for sale are not genuine SAF" parts, but are parts made for and by NEW COIR S.p.A.
Reference to SAF™ machine. torches and numbers are for your convenience only. We reserve the right to substitute genuine SAF” parts in place of NEW COIR S.p.A. parts.

—1i

1 {

1

2

10

10

10

TMA301 | 100
TMA301 | 100
TMA301 | 100 |
TMA301 | 100

| TMA401-501] 50 |
| TMA401-501| 50
| TMA401-501 50 |
TMA401-501 50
10

10




s — 18083
113.08.4.5
13.09.M

__ PartNo e DESCRIPTION = T ORIGINAL REF. PACK
Impugnatura TMA 301 ¥3 - Handle TMA 301 3 o s R
Impugnatura TMA 401-501 - Handle TMA 401-501 S| | ST
Microinteruttore - Switch S | |
13.09.L | Leva per micro - Trigger spring

; (13203013 | Gavo coassiale TMA 301-35 mt. 3 - Assembled cable TMA301-35mt.3 | Tl
4 | (T o 113.20.301.4 | Cavo coassiale TMA 301-35 mt. 4 - Assembled cable TMA 301-35 mt. 4
i 113203015 | Cavo coassiale TMA 301-35 mt. 5 - Assembled cable TMA301-35mt.5 | I
b ¥ 113204013 | Cavo coassiale TMA 401-501-50 mt. 3 -~ Assembled cable TMA 401-501-50 mt. 3 i
. 113204014 | Cavo coassiale TMA 401-501-50 mt. 4 - Assembled cable TMA 401-501-50 mt. 4 =]
i c g | 13.20.401.5 | Cavo coassiale TMA 401-501-50 mt. § - Assembled cable TMA 401-501-50 mt. § | |
= 113205013 | Cavo coassiale TMA 501-65 mt. 3 - Assembled cable TMA501-65mt.3 | =i
I 113205014 Cavo coassiale TMA 501-65 mt. 4 - Assembled cable TMA 501-65 mt. 4 ,
; 113.20501.5 | Cavo coassiale TMA 501-65 mt. 5 - Assembled cable TMA501-65mt.5 | B 1)
o & 'VARC.SF35 | a | Raccordo anteriore Es.14 TMA 301 - Coax- cable fitng Es. 14 TMA301 | (=0
'VARC.SF40 | a | Raccordo anteriore Es.14 TMA401 - Coax-cablefitng Es. 14 TMA401 | |
LRL =i VARC.SF50 | a | Raccordo anteriore Es.14 TMA 501 - Coax-cable fiting Es. 14 TMA501 | Y
' VARC36E | T | Raccordo cavo coassiale post. - Coax- cable fitting e Id
'VAB2022 | d | Manicotto serraggio cavi 35-50mmg. - Skeve EURO35-50mmg. | [ ]
_ VAB2325 | d | Manicatlo serraggio cavi 65 mma. - Sleeve EUROGSmMmg. =S
g P 3] {02043 | Guaina guidafilo blu 8 0,6 - 1,0 mt.3 ~ -Liner@0,6-10Buem3 | .
' 02.04.T4 | Guaina guidafilo blu 80,6 - 1,0 mt.4 ~ -Liner@0,6 - 1,0 Blue mt.4 | [
020475 | Guainaguidafiloblu@06-10mt5  -Liner@06-1.0Buemt5 | B0 [
02.04.R3 | Guaina guidatilo rossa 81,0 - 1,2 mt.3 - Liner 01,0 - 1,2 Red mt.3 | ] b |
| 02.04.R4 | Guaina guidafilo rossa 81,0 - 1,2 mt.4 - Liner @ 1,0 - 1,2 Red mt.4 | ) Il |
5 0204R5 | Guaina guidafilo rossa 81,0 - 1,2 mt5 - Liner 81,0 - 1,2 Red mt.5 L =
: 102.04P3 | Guaina guidafilo gialla 81,2-1,6mt3 - Liner@1,2- 1,6 Yellow mt.3 [ [ ]
! 02.04.P4 | Guaina guidafilo gialla 81,2 - 1,6 mt.4 -Uner@12-16Yelowmta | | |
0204P5 | Guaina guidafilo gialla @ 1,2 - 1,6 mt5 - Liner 81,2 - 1,6 Yellow mt.5 ] ]
0204763 | Guaina guidafilo rossa rinforzata 81,0 - 1,2mt.3 - Liner rinforced 01,0~ 12Redmtd | [
| 02.04.7G4 Guaina guidafilo rossa rinforzata @ 1,0 - 1,2 mt.4 - Liner rinforced @ 1,0 - 1,2 Red mt.4 [ | ol
0204765 | Guaina guidafilo rossa rinforzata 1,0 - 1,2mt5 - Liner rinforced @ 1,0 - 1,2 Red mt.5 | =
023008 | ORNG - “omNe. y o F | I
[ 9] sadem |02.04.AL | Guaina guidafilo per alluminio mt. 4,5 = Liner for Aluminium mt. 4.5 s =]
| 02.04.ALT Capocorda per guaina guidafilo per alluminio - Nut for wire conduit for Aluminium |
|02.04.AL5 Guaina guidafilo per alluminio mt. 5,5 - Liner for Aluminium mt. 5,5 | [
Ar——- |
e Ve
02.30.01 Mollone posterire - Cable support spring [
=]
|
8 . | 1 [ [
:7 [02.30.02 | Manicotto per mollone - - Cable protector grommet TS s
i ) |
| m ! _ _ | ! _‘
|
T 1023003 | Scatola posteriore - Connector case | =0
| 102.30.091 | Vite per scatola posteriore - Screw | L
| l | TP
1
B 5 S e T | =
02.30.04 Ghiera - Nut [
| e ==
iL| = 1 e e e 1} e — |
|13.30.08 | Corpo torcia posteriore SAF - EURO connector SAF* | o I
{02.30.08 0-RING - 0-RING
\VAA6YP | Faston femmina cilindrico - Faston female 0 Y| =
02.30.06 Dado — - Liner nut 5 o g
513.30.08.1 Spinetta maschio mobile - Spring pin [




	088
	089

